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But we could Yope o list-docwde uph Y. I Ahis csse, Fha Johrson divs is
Jo(8)- 2 (1-{1727 ) =2, 5wk tovt 4 s sy ot o big

Q We also know His
@ GOLDREICH-LEVIN ALG. Y«wm«aum
. with Parseval's Thm
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i coh (- b0
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- T AT, def :
A, i - B

‘Now T hee =T difforent  \Slues o F

|
" CLAIM .- E‘%,\: Acrel§ gre PAIRWISE  INDEPENDENT.
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Moz
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with S( ﬂw,a) <2 -¢, we(g_

Tl
COR..

(KusHievirz- MAN&)M&)
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\What we st s s o LocAL s Decoomg ALGOR M.

\
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what P+ NP
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QM=F?

o] o=

- Now consider e YRG :

x —| WG | — (o, B, , [, [rson], >

4
4]
‘._lat‘(\s ot Hais is a Sooc(?Kﬁ; ésswm'n& ly)
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